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1. (c) 42 – 6 × 7 + 8 ÷ 9 – 3
Replacing the sign
42 ÷ 6 + 7 × 8 – 9 ÷ 3 = x
7 + 7 × 8 – 3 = x
7 + 56 – 3 = x
x = 60

2. (a) K a R a N K a / K a R a N K a /
KaRaNKa

3. (b) I F S P

J H T R

+1 +2 +1 +2
, M P W F

N R X H

+1 +2 +1 +2

Similarly,

T O A D

U Q B F

+1 +2 +1 +2

4. (d)W % X $ Y & Z.

W
–

Z
+

X
–

Y
+

 Z is the husband of W.
5. (c) AGC

= (1 × 7 × 3) × 2
= 21 × 2 = 42
BAD
= (2 × 1 × 4 )× 2
= 8 × 2 = 16

Similarly,
KIC
(11 × 9 × 3) × 2
= 297 × 2 = 594

6. (a) I

G

L

T

+1

+2

+2

+2

+1

+2

+2

+2

J

I

N

V

K

K

P

X

(Odd.)

7. (b) Classrooms Houses

Parks
School

8. (d)96 ÷ 6 – 16 + 12 × 8 = 40
After interchange the
number

 96 ÷ 12 – 16 + 6 × 8 = 40
 8 – 16 + 6 × 8 = 40
 8 – 16 + 48 = 40
 56 – 16 = 40
 40 = 40 (L.H.S = R.H.S)

9. (b)46 + 28 × 2 – 7 ÷ 13 = 41
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After interchanging the sign
46 + 28 × 2 ÷ 7 – 13 = 41
46 + 8 – 13 = 41
54 – 13 = 41
41 = 41 (L.H.S = R.H.S)

10. (a)
11. (a) (13, 7, 546)

 (13 × 2) × (7 × 3)
 26 × 21

= 546
(14, 15, 1260)
(14 × 2) × (15 × 3)
28 × 45 = 1260

Similarly,
(28, 21, 3528)
= (28 × 2) × (21 × 3)
= 56 × 63
= 3528

12. (b) J U G

L S I

+2 –2 +2
,  W I N

Y G P

+2 –2 +2

Similarly,

A P T

C N V

+2 –2 +2

13. (b)3 : 72
= 3 × 24
= 72
21 : 504

 21 × 24 = 504
Similarly,

36 : x
= 36 × 24
x = 864

14. (d)
15. (c)
16. (d)
17. (a) 109 – 3 (Odd.)

= (3)3 + (3)2

= 27 + 9
 36  109

150 – 5
= (5)3 + (5)2

= 125 + 25
= 150
392 – 7
= (7)3 + (7)2

343 + 49 = 392
12 – 2
= (2)3 + (2)2

 8 + 4 = 12
18. (a)

19. (a)
3, 7, 6, 14, 12, 28, 24, 56

×2 ×2 ×2

×2 ×2 ×2

20. (c)
21. (a) (5, 9, 27)

(5 × 2) + (9 × 2) – 1
= 10 + 18 – 1
= 10 + 18 – 1
= 27
(9, 15, 47)
= (9 × 2) + (15 × 2) – 1
= 18 + 30 – 1
= 47

Similarly,
(18, 5, 45)
= (18 × 2) + (5 × 2) – 1
= 36 + 10 – 1
= 45

22. (a)C # D + E # G + L

C
–

D
+

E
–

G+

L

 E is the mother of L.

23. (a)

24. (a) W OJ F

Z RO K

+3 +3+5 +5

C NP Y

F QU D

+3 +3+5 +5

Similarly,

X LR D

A OW I

+3 +3+5 +5

25. (a)

B-GENERAL AWARENESS
26. (b) Anushilan Samiti,

established in 1902 in
Bengal, was a revolutionary
organization aimed at
ending British rule through
physical training and
revolutionary activities.
Satish Chandra Basu, a
key figure, founded it to
promote nationalism and
resistance.
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vuq'khyu lfefr] 1902 esa caxky esa
LFkkfir] ,d Økafrdkjh laxBu Fkk
ftldk mís'; 'kkjhfjd çf'k{k.k vkSj
Økafrdkjh xfrfof/;ksa ds ekè;e ls
fczfV'k 'kklu dks lekIr djuk FkkA
lrh'k paæ clq] ,d çeq• O;fDr] us
bls jk"Vªokn vkSj çfrjks/ dks c<+kok
nsus ds fy, LFkkfir fd;kA

27. (c) Shipki La, located in
Himachal Pradesh at ~3,930
meters, is a vital pass
connecting India to China,
facilitating trade routes./

f'kidh yk] fgekpy çns'k esa ~3,930

ehVj dh ÅapkbZ ij fLFkr] Hkkjr dks
phu ls tksM+us okyk ,d egRoiw.kZ njkZ
gS] tks O;kikj ekxks± dks lqxe cukrk gSA

28. (b) The Income Method
calculates national income
by summing all incomes
earned (wages, rent,
interest, profit) in a given
period. It’s one of three
methods (others being
Production method and

Expenditure method)./vk;
fof/ ,d fuf'pr vof/ esa vftZr
lHkh vk; (osru] fdjk;k] C;kt] ykHk)
dks tksM+dj jk"Vªh; vk; dh x.kuk
djrh gSA ;g rhu fof/;ksa esa ls ,d gS
(vU; gSa mRiknu fof/ vkSj O;; fof/
)A

29. (a) Porifera (sponges) l ike
Sycon, Spongilla, and
Euplectella have porous
bodies and no true tissues.
Hydra, a Cnidarian, has a
simple tubular body with
stinging cells, making it

distinct./iksfjiQsjk (Liat) tSls
lkbdu] LikWfUtyk] vkSj ;wIysDVsyk esa
fNæ;qDr 'kjhj vkSj dksbZ okLrfod Ård
ugha gksrsA gkbMªk] ,d LukbMsfj;u] esa
ljy ufydkdkj 'kjhj vkSj Mad
dksf'kdk,a gksrh gSa] tks bls vyx cukrh
gSaA

30. (b) Article 342 allows the
President to notify
Scheduled Tribes for each
state/UT, with Parliament’s
approval for amendments./

vuqPNsn 342 jk"Vªifr dks çR;sd

jkT;@dsaæ 'kkflr çns'k ds fy,
vuqlwfpr tutkfr;ksa dks vf/lwfpr
djus dh vuqefr nsrk gS] ftlesa
la'kks/u ds fy, laln dh eatwjh
vko';d gSA

31. (b) Pierre de Coubertin, a
French educator, revived
the Olympic Games in
1896 to promote
international unity

through sports./fi;js Mh
dqcsfVZu] ,d Úkalhlh f'k{kkfon~] us
1896 esa vksyafid •syksa dks iqutZuu
fd;k rkfd •syksa ds ekè;e ls
varjjk"Vªh; ,drk dks c<+kok fn;k
tk ldsA

32. (c) Antoine Lavoisier, known
as the father of modern
chemistry, co-authored
the 1787 book that
standardized chemical
nomenclature, crucial for
scientific advancements./

,aVksuh ykoksbfl;j] ftUgsa vk/qfud
jlk;u foKku dk tud ekuk tkrk
gS] us 1787 esa jklk;fud ukedj.k
dks ekudhÑr djus okyh iqLrd
lg&ys•u fd;k] tks oSKkfud çxfr
ds fy, egRoiw.kZ FkhA

33. (d) The Rig Veda’s Nadistuti
Sukta (Book 3, Hymn 33)
describes Vishvamitra’s
dialogue with the rivers
Vipas (Beas) and Shutudri
(Sutlej), revered as

goddesses. /½Xosn dk unhLrqfr
lwDr (iqLrd 3] lwDr 33)
fo'okfe=k ds foikl (C;kl) vkSj
'kqrqæh (lryqt) ufn;ksa ds lkFk
laokn dk o.kZu djrk gS] ftUgsa nsoh
ds :i esa iwtk tkrk gSA

34. (b) India’s Constitution
assigns residuary powers
(subjects not listed in
Union, State, or
Concurrent Lists) to the
Union, inspired by
Canada’s federal

structure./Hkkjr dk lafo/ku
vof'k"V 'kfDr;ksa (la?k] jkT;] ;k
leorhZ lwph esa u 'kkfey fo"k;ksa)

dks la?k dks lkSairk gS] tks dukMk dh
la?kh; lajpuk ls çsfjr gSA

35. (a) The Bhil tribe, one of
India’s largest tribal
groups, is primarily found
in Rajasthan, Gujarat,
Madhya Pradesh, and
Maharashtra. Rajasthan is

the key region./Hkhy tutkfr]
Hkkjr dh lcls cM+h tutkfr;ksa esa ls
,d] eq[; :i ls jktLFkku] xqtjkr]
eè; çns'k vkSj egkjk"Vª esa ikbZ tkrh
gSA jktLFkku çeq• {ks=k gSA

36. (a) Angstrom (1 Å = 10¹°
meters) is used to measure
light wavelengths due to
their small scale. Other
units are irrelevant here./

vkaxLVªkWe (1 Å = 10¹° ehVj) dk
mi;ksx çdk'k dh rjaxnSè;Z dks ekius
ds fy, fd;k tkrk gS D;ksafd bldk
iSekuk NksVk gksrk gSA vU; bdkb;ka
;gka vçklafxd gSaA

37. (d) Cnidarians (e.g., jellyfish,
corals) have radial
symmetry, suited for their
aquatic, stationary lifestyle.
Annelida, Molluscs, and
Arthropoda exhibit bilateral

symmetry./LukbMsfj;u (tSls
tsyhfiQ'k] ewaxk) esa jsfM;y le:irk
gksrh gS] tks muds tyh;] fLFkj
thou'kSyh ds fy, mi;qDr gSA
,fufyMk] eksyLdk] vkSj vkFkzkZsiksMk
esa f}i{kh; le:irk gksrh gSA

38. (c) Chilai Kalan is a 40-day
period (December-January)
of intense cold in Kashmir,
followed by Chilai Khurd
(minor cold) and Chilai

Bachha(baby cold). /fpYybZ
dyka d'ehj esa fnlacj&tuojh ds
40 fnuksa dh rhoz BaM dh vof/ gS]
blds ckn fpYybZ •qnZ (NksVh BaM)
vkSj fpYybZ cPpk (gYdh BaM) vkrs
gSaA

39. (a) The Chola dynasty’s
efficient local governance
included Sabha (Brahmin
village assemblies) and Ur
(non-Brahmin assemblies),
known from inscriptions./
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pksy oa'k dh dq'ky LFkkuh; 'kklu
O;oLFkk esa lHkk (czkã.k xkao lHkk,a)
vkSj mj (xSj&czkã.k lHkk,a) 'kkfey
Fkha] ftudk mYys• f'kykys•ksa esa
feyrk gSA

40. (c) Tso Moriri in Ladakh, at
~4,522 meters, is India’s
highest freshwater lake,
unlike Dal and Wular
(lower altitude) or Chilika

(brackish). /yík• esa Rlks eksfjjh]
~4,522 ehVj dh ÅapkbZ ij] Hkkjr
dk lcls Åapk ehBs ikuh dk >hy
gS] tks My vkSj oqyj (fupyh ÅapkbZ)
;k fpYdk (•kjk) ls vyx gSA

41. (a) Primary deficit measures
borrowing needs excluding
interest on past loans,
calculated as fiscal deficit
minus interest payments./

çkFkfed ?kkVk fiNys ½.kksa ij C;kt
dks NksM+dj m/kj dh vko';drk
dks ekirk gS] ftldh x.kuk foÙkh;
?kkVk ekbul C;kt Hkqxrku ds :i esa
dh tkrh gSA

42. (a) Part IX (Articles 243-243O)
outlines the structure of
Panchayats, while the
Eleventh Schedule lists

their 29 subjects./Hkkx IX

(vuqPNsn 243&243O) iapk;rksa dh
lajpuk dks js•kafdr djrk gS] tcfd
X;kjgoha vuqlwph esa muds 29 fo"k;
lwphc¼ gSaA

43. (b) The Vijayanagar Empire
was founded in 1336 AD by
Harihara I and Bukka Raya
I. They established the
empire with the help of
their guru saint

Vidyaranya/fot;uxj lkezkT;
dh LFkkiuk 1336 bZ- esa gfjgj çFke
vkSj cqDdk jk; çFke us dh FkhA
mUgksaus vius xq# lar fo|kj.; dh
enn ls lkezkT; dh LFkkiuk dh FkhA

44. (c) Article 48 promotes
agriculture and animal
husbandry, aligning with
PMFBY’s goal of supporting
farmers through crop

insurance./vuqPNsn 48 Ñf"k vkSj

i'kqikyu dks c<+kok nsrk gS] tks
ih,e,iQchokbZ ds iQly chek ds
ekè;e ls fdlkuksa dks leFkZu nsus ds
y{; ds lkFk lajsf•r gSA

45. (d) Producers (e.g., plants) use
abiotic resources (sunlight,
water, CO

2
) to create energy

via photosynthesis,
sustaining biotic

components. /mRiknd (tSls
ikS/s) çdk'k la'ys"k.k ds ekè;e ls
ÅtkZ mRiUu djus ds fy, vtSfod
lalk/uksa (lw;Z çdk'k] ikuh] CO

2
)

dk mi;ksx djrs gSa] tks tSfod ?kVdksa
dks cuk, j•rs gSaA

46. (b) Group Captain
Shubhanshu Shukla made
history by becoming the
first Indian citizen to visit
the International Space
Station (ISS), launching
aboard SpaceX’s Crew
Dragon (Axiom-4) from
NASA’s Kennedy Space
Center on June 25, 2025,
and docking with the ISS

on June 26/xzqi dSIVu 'kqHkka'kq
'kqDyk us varjkZ"Vªh; varfj{k LVs'ku
(ISS) dk nkSjk djus okys igys
Hkkjrh; ukxfjd cudj bfrgkl jp
fn;k gSA os 25 twu] 2025 dks uklk
ds dSusMh Lisl lsaVj ls Lisl,Dl ds
Øw MªSxu (,fDlvkse&4) ij lokj
gksdj varfj{k esa mrjs vkSj 26 twu
dks ISS ls tqM+ssA

47. (b) The International Labour
Conference, organized by
the ILO, is held annually in
Geneva, Switzerland, so
was 112th session (June 3-

14, 2024)./varjjk"V ª h; Je
lEesyu] vkbZ,yvks }kjk vk;ksftr]
çR;sd o"kZ tsusok] fLoV~tjySaM esa
vk;ksftr gksrk gS] blfy, 112oka l=k
(3&14 twu] 2024) Hkh ogka gqvkA

48. (a) The theme of the Summit

was - "BIMSTEC:

Prosperous, Resilient and

Open”. It reflected the

priorities of the leaders and

the aspirations of the

peoples of the BIMSTEC

region, as well as the efforts

of BIMSTEC in ensuring

shared growth in times of

global uncertainties./f'k•j
lEesyu dk fo"k; Fkk & "fcElVsd%
le`¼] yphyk vkSj •qyk"A blesa
fcElVsd {k s = k ds usrkvk s a dh
çkFkfedrkvksa vkSj yksxksa dh vkdka{kkvksa
ds lkFk&lkFk oSf'od vfuf'prrkvksa
ds le; esa lk>k fodkl lqfuf'pr
djus esa fcElVsd ds ç;klksa dks Hkh
çfrfcafcr fd;k x;kA

49. (d) None of the listed

individuals won the 2025

Earth Champion Award by

UNEP for afforestation and

green innovation in India./

lwphc¼ O;fDr;ksa esa ls fdlh us Hkh
Hkkjr esa ouhdj.k vkSj gfjr uokpkj
ds fy, ;w,ubZih }kjk 2025 dk vFkZ
pkSafi;u iqjLdkj ugha thrkA

50. (c) In June 2025, Kerala

established the Aralam

Butterfly Sanctuary in

Kannur, a first-of-its-kind

conservation effort, as

reported in recent

updates./twu 2025 esa] dsjy us
dUuwj esa vjkye frryh vHk;kj.;
LFkkfir fd;k] tks laj{k.k ds fy,
,d vuwBk ç;kl gS] tSlk fd gky
ds viMsV esa crk;k x;k gSA

C - QUANTITATIVE APTITUDE

51. (a) 2.5 × [144 ÷ 198 × {121 ×

81 ÷ (11 × 9)}]

 2.5 ×  
8

121 81 99
11

 
    

 2.5 × 
8 121 9

11 11

   
   
  

 2.5 × 
8

11 9
11

 
   


5

8 9
2
   = 180
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52. (b) ab + bc + ca = 0

ac + ca = – ab ... (i)

ab + ca = – bc ... (ii)

ab + bc = – ca         ...(iii)

 2 2

1 1
+

a  + ab + ca b  + ab + bc

2

1
+

c  + bc + ca

    
1 1

+
a a + b + c b a + b + c

 
1

+
c a + b + c

  
ab + bc + ca

abc a + b + c

=  
0

abc a + b + c  = 0

53. (b) According to the question.

.
r

r

D C

A B

112m

144m

r = 
AD

2
 = 

112

2
 = 56

Circumference of circle = 2r

= 2 × 
22

7
 × 56

= 44 × 8

= 352

54. (c) a2 – 4a + 1 = 0

a (a – 4) = – 1

a – 4 = 
–1

a

a + 
1

a
 = 4

Squaring both sides

2
1

a + 
a

 
    = (4)2

a2 + 2

1

a
+ 2 = 16

a2 + 2

1

a
 = 14

Now,

a2 + 2

1

a
 + a + 

1

a
 = 14 + 4

= 18

55. (c) SP = CP × 
100 ± P

100

According to the question

572 = CP × 
100 + 30

100

572 = CP × 
130

100

CP = `440

56. (b) According to the question

Let numbers of man = N

N × 15 = (N – 2) × 20

N = 8

57. (d) x2 + 2

1

x
 = 

17

4

x2 + 2

1

x
 + 2 = 

17

4
+ 2

2
1

x + 
x

 
  

 = 
25

4

x + 
1

x
 = 

5

2

Now,

x3 + 3

1

x
 = 

3
1

x + 
x

 
  

 – 3

1
x + 

x

 
  

= 

3
5 5

– 3 × 
2 2

 
  

= 
125 15

–
8 2

= 
65

8

58. (c) According to the question

A = 
900

80
 = 11.25

B = 
500

40
 = 12.5

C = 
1500

150
 = 10

D = 
700

80
 = 8.75

E = 
1000

100
 = 10

Hence, product D has the

maximum manufacturing

cost in comparison to its

total cost of production.

59. (b) `1 : 25P : 50P

x  : 2x : 4x

The box contains 77 rupees

= 77 × 100 = 7700P

Now,

100x + (50 × 4x) + (25 × 2x)

= 7700

350x = 7700

x = 22

Then,

4x = 4 × 22 = 88

60. (d) In ABE

 BAE + ABE + AEB =

180º

 30º + 80º + AEB = 180º

 AEB = 70º

 DEB = 180º – AEB

 DEB = 110º

In DEB

DBE + DEB + BDE =

180

 BDE = 180º – (110 – 50)

 BDE = 20º

So,

BCE = 20º

 BDE = BCE

61. (c) Let Perpendicular = P, Base

= B

Hypotenuse = H

P2 = 52 – 32

P = 4

Now,


3tan θ – 5cos θ

5sin θ – 3sec θ



4 3
3 ×  – 5 ×

5 5

4 5
5 ×  – 3 × 

5 3

 
  

 
  

= –1
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62. (b) ADE + ADB = 180º
ADC = 180 – 120 = 60º
In ADC
CAD + ADC + DCA =
180

 2x + 60 + 90 = 180
 x = 15

So,
3x = 3 × 15 = 45 = DAB
In ABD
ADB + ABC + DAB =
180º

 y + 60 + 45 = 180º
 y = 75

63. (d) By divisibility rule 11.
8 + 8 + A = 6 + 6 + 5
16 + A = 17
A = 1

64. (a) According to the question
30% + 50 = 42% – 58
12% = 108
1% = 9
Passing marks = 30% + 50
= 30 × 9 + 50
= 320

65. (a) Volume of sphere = 
4

3
r3

Volume of wire = r2h
According to the question

4

3
 × 6 × 6 × 6

=  × 
4 4

 ×  × h
10 10

h = 1800 cm or 18 m.
66. (b) Production of (B + C)

 (750 + 520 + 1170) + (630 +
1280 + 650 ) = 5000
Production of  (A + D)

 (1350 + 570 + 420) + (810 +
990 + 580) = 4720
Difference = 5000 – 4720
 = 280

67. (a)    

2

2 22 2

1 tan x
+

1 + cot x 1 + tan x

2

1
+

1 + tan x

    

2 2

2 2 22 2

1 sin x/cos x 1
+ +

sec xcosec x sec x


2

4 4 2 2

1 sin x 1
+ +

cosec x sec x.cos x sec x

 sin4x + sin2x.cos2x + cos2x

 sin2x (sin2x + cos2x) + cos2x

 sin2x + cos2x = 1

68. (a) According to the question

Age of 14 teachers = 14 ×

56

= 784

Now,

Age of 15 teachers = 15 ×

58

= 870

Age of the new teacher =

870 – 784 = 86 yrs.

69. (a)

110º

O
R

P

Q

PRQ = 
110º

2
= 55º

In PQR

55º + 90º + PQR = 180

PQR = 35º

In POQ

QPO + 110º + 35º = 180º

QPO = 35º

70. (b) SI = 
P × R × T

100

According to the question

956 – 800 = 
800 × R × 3

100

156 = 24 × R

R = 6.5%

Now,

SI = 
 800 × 6.5 + 4  × 3

100

= 252

Gain = 252 – 156 = 96

71. (b) According to the question

Required difference = 200 –

160 = 40 Lakhs

Packets = 4000000

72. (b)
1 – cos sin 1 cos sin

1 sin 1 cos sin

   

  

  


  


 

   

2 21 sin – cos

1 sin 1 cos sin

 

  



  


     

   

2
1 sin  – 1 sin 1– sin

1 sin 1 cos sin

  

  

 

  


      

   
1 sin 1 sin – 1 – sin

1 sin 1 cos sin

  

  

 

  


2sin

1 cos sin



  
 = x

73. (d) Let distance = D

Time taken by cycling =

D

15
hr.

Time taken by biking =

D

20
hr.

Time difference = 
11

60
hr.

According to the question

D

15
 – 

D

20
 = 

11

60

D = 11km.

74. (b) Distance travelled by first

employee = 200 + 300 + 200

= 700

Distance travelled by

second employee = 250 +

350 + 100 = 700

Ratio = 700 : 700

= 1 : 1

75. (a) According to the question

Selling price of the washing

Machine = 55000 ×

90 90 90

100 100 100
 

= 40095

D-ENGLISH COMPREHENSION

76. (c) After listening to a long

speech, Tanuja felt

exhausted and devoid of

energy.

Listless means lacking

energy or enthusiasm

(mRlkgghu] Fkdk gqvk] lqLr)
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77. (a) Obligatory (vfuok;Z @ t:jh)
means something that is

necessary or required

Sceptical (l a ' k; k Red)
means having doubts or

not easily convinced.

Derogatory (viekutud)
means showing disrespect.

78. (a) The correct spelling is

Allegiance (fu"Bk) which

means loyalty or

commitment to a person,

group, or cause.

Other correct spellings are:

Subservience (vkKkdkfjrk )
Willingness to obey others

unquestioningly.

Reverence (lEeku) Deep

respect or admiration for

someone or something.

Adherence (n`<+rk ls tqM+ko)
Strong attachment or

commitment to a rule,

belief, or guideline.

79. (a) Active Voice : Who (Subject)

+ is making (Present

continuous verb) + such a

loud noise (Object)?

Passive Voice : By whom

(Agent) + is (helping verb)

+ such a loud noise (Object

as Subject) + being made

(Passive verb form)?

80. (a) The sentence describes an

action that happened in the

past (“He was playing

cricket”). The subsequent

clause also needs to be in

a past tense “when I

walked past” to indicate a

completed action in the

past.

81. (b) It should be “the advice

you gave me” which refers

to the specific advice

previously mentioned or

known.

82. (d) Exculpate (cj h dju k)
means to clear someone of

blame or declare them not

guilty, while Condemn

(nks"kh Bgjkuk) to declare

someone guilty or express

strong disapproval.

Vindicate (lgh Bgjkuk)
means to justify or prove

someone’s innocence.

Absolve (ekiQ djuk) means

to free someone from guilt

or responsibility.

Condone (utjvankt djuk)
means to overlook or

forgive wrongdoing.

83. (d) A white elephant (csdkj vkSj
•ph Zy h pht)  means

something that is useless

and expensive to maintain.

A gift of gab (prqjkbZ ls cksyus
dh dyk) The ability to speak

easily and persuasively  In

doldrums (fujk'kk esa @ lqLr
voLFkk esa) – In a state of

stagnation or depression

Bite the bullet (dfBu
ifjfLFkfr dks >syuk) To endure

a painful or unpleasant

situation bravely

84. (d) Meticulous (lko/kuhiwoZd)
means showing great

attention to detail and

being very careful or

precise, while Sloppy

(ykijokg) – someone who is

careless and lacks

attention to detail.

Detailed (foLr`r) means

having many parts or being

thorough.

Categorised (oxh ZÑr)
means arranged into

categories.

Orderly (lqO;ofLFkr) means

neat, organized, or well-

arranged.

85. (c) In this sentence, we are

talking about time (post-

poned), so the correct word

should be Further (vkxs @
vfrfjDr) is used for time,

quantity, or degree, not

Farther (nwj rd) means

physical distance.

86. (a) “along with” is the correct

to use when you want to

indicate that someone or

something is

accompanying another

person or thing, or is

included with them. It

means “together with.”

87. (d) Encumbrance (ck/k)
means a burden,

obstacle, or something

that hinders progress.

Similarly, Hurdle (ck/k) –

something that obstructs

or creates difficulty

Catalyst (ç s jd rRo) –

something that speeds up

a process

Incentive (çk s Rlkgu) –

something that motivates

or encourages

Impetus (çsj.kk) – a driving

force or push forward

88. (b) Lick your wounds (pksV ;k
gkj ds ckn laHkyuk)  means

to withdraw for a while and

recover after a defeat,

failure, or bad experience.

89. (d) The correct spelling is

Diligent (esgurh) means

showing care and effort in

one’s work or duties.

90. (b) Exquisite (vR;ar lq anj)
means extremely

beautiful, delicate, or

finely made, often

referring to something of

high quality or charm.

Crude (vifj"Ñr) – rough,

raw, or lacking refinement

Ordinary (lk/kj.k) – not

special or exceptional

Rough (•q jn q j k)  – not

smooth or refined

91. (d) Pack of wolves (HksfM+;ksa dk
>qaM)  is correct— wolves



7SSC CGL 2025 | SET - 25KD PUBLICATION Contact us:- 9555108888, 9555208888

are natural predators of

deer and travel in groups

called “packs”.

Herd of lions – (lions move

in a pride)

Swarm of hyenas –

“Swarm” is used for insects

Flock of buffaloes –

“Flock” is used for birds or

sheep, not buffaloes (they

form a herd)
92. (b) Correct order is RQPO.

R introduces the main idea:
Trekking through the
wilderness sets the stage
for the action.

Q provides details on the
participants: Hikers
encountered diverse
ecosystems.

P explains the range of
ecosystems they saw: From
lush forests to.

O completes the range of
ecosystems: Arid deserts.

93. (b) “a lasting impression”
means the effect or image
left in someone’s mind.

ANSWER KEY

1. (c)

2. (a)

3. (b)

4. (d)

5. (c)

6. (a)

7. (b)

8. (d)

9. (b)

10. (a)

11. (a)

12. (b)

13. (b)

14. (d)

15. (c)

16. (d)

17. (a)

18. (a)

19. (a)

20. (c)

21. (a)

22. (a)

23. (a)

24. (a)

25. (a)

26. (b)

27. (c)

28. (b)

29. (a)

30. (b)

31. (b)

32. (c)

33. (d)

34. (b)

35. (a)

36. (a)

37. (d)

38. (c)

39. (a)

40. (c)

41. (a)

42. (a)

43. (b)

44. (c)

45. (d)

46. (b)

47. (b)

48. (a)

49. (d)

50. (c)

51. (a)

52. (b)

53. (b)

54. (c)

55. (c)

56. (b)

57. (d)

58. (c)

59. (b)

60. (d)

61. (c)

62. (b)

63. (d)

64. (a)

65. (a)

66. (b)

67. (a)

68. (a)

69. (a)

70. (b)

71. (b)

72. (b)

73. (d)

74. (b)

75. (a)

76. (c)

77. (a)

78. (a)

79. (a)

80. (a)

81. (b)

82. (d)

83. (d)

84. (d)

85. (c)

86. (a)

87. (d)

88. (b)

89. (d)

90. (b)

91. (d)

92. (b)

93. (b)

94. (a)

95. (b)

96. (a)

97. (a)

98. (a)

99. (b)

100.(d)

94. (a) Passive Voice Sentence:
Devotional songs (Object
becomes Subject) + are
sung (Passive form of
present simple) + superbly
by Sastri (Agent).
Active Vo ice Structure:
Sastri (Subject) + sings
(Present simple verb) +
devotional songs (Object) +
superbly (Manner).

95. (b) Correct order is B D C A.
B introduces the main idea:

The word ‘tsunami’ sends
shivers down my spine.

D provides background: A
vacation in Thailand the
day the tsunami struck.

C describes the event: Waves
grew bigger and splashed
quickly.

A concludes with the impact:
The waves destroyed all the
shanties.

96. (a)
97. (a)
98. (a)
99. (b)
100.(d)


